

Nom	Nº
-----	----



Fes aquestes operacions amb les fraccions, fixa't que hi ha sumes i restes

$$\frac{2}{6} + \frac{3}{6} = \underline{\hspace{2cm}}$$

$$\frac{3}{8} + \frac{4}{8} = \underline{\hspace{2cm}}$$

$$\frac{4}{8} + \frac{3}{8} = \underline{\hspace{2cm}}$$

$$\frac{1}{6} + \frac{2}{6} = \underline{\hspace{2cm}}$$

$$\frac{4}{8} + \frac{1}{8} = \underline{\hspace{2cm}}$$

$$\frac{3}{8} + \frac{2}{8} + \frac{1}{8} = \underline{\hspace{2cm}}$$

$$\frac{1}{4} + \frac{1}{4} + \frac{1}{4} = \underline{\hspace{2cm}}$$

$$\frac{2}{8} + \frac{2}{8} + \frac{2}{8} = \underline{\hspace{2cm}}$$

$$\frac{8}{8} - \frac{5}{8} = \underline{\hspace{2cm}}$$

$$\frac{4}{5} - \frac{1}{5} = \underline{\hspace{2cm}}$$

$$\frac{2}{4} - \frac{1}{4} = \underline{\hspace{2cm}}$$

$$\frac{2}{7} - \frac{1}{7} = \underline{\hspace{2cm}}$$

$$\frac{2}{2} - \frac{1}{2} = \underline{\hspace{2cm}}$$

$$\frac{3}{7} - \frac{2}{7} = \underline{\hspace{2cm}}$$

$$\frac{2}{3} - \frac{1}{3} = \underline{\hspace{2cm}}$$

$$\frac{3}{4} - \frac{1}{4} = \underline{\hspace{2cm}}$$

$$\frac{7}{7} - \frac{3}{7} = \underline{\hspace{2cm}}$$